Hiny Hider®
Toilet Compartments
Installation Instructions

HID

BY SCRANTON PRODUCTS




Table of Contents

Please note, some hardware is not covered in this booklet. Any hardware not in this
booklet will have its own separate installation instructions included with it, do not
disregard these you will need them to install.

Section 1 Site Preparation ... ........ccccoooiiieeeiiiiee e 3
Section 2 FASIENEIS ... ciiiiiiiee e e 4
Section 3 Understanding Your Drawings .........ccccoeeeeeviieeeenninnnens. 5
Section 4 General Layout Info./Mounting TYpes ........cccccvveeernnnne .6
Section 5 BracCkets .......ooocuiiiiiiiiie e 11
Section 6 Headrail ..........ccueviiiii e 15
Section 7 Crossbracing for Ceiling HUNG .......coooeiiiiiiieiiiiieeene .17
Section 8 76" SHIFENET ... oo 18
Section 9 HINGES oo 19
Section 10 Coat HOOK & BUMPETS ... ..ocooiiiiiiiiiiieee e .22
Section 11 VaNILY ..t e 23
Section 12 LOCKEr BENCN ... cvvveiiiiiie e 26
Section 13 Terrazzo Base / Shower Cube ...........ccccvvveveeeeeiicnnnn. 27

Care & MainteNanCe ... ....ccccveeveieeeeeiciiieeeee e 28

Page 2 Solid Plastic Toilet Compartments Installation Instructions



Section 1: Site Preparation

Thank you for purchasing our product, your business is greatly appreciated. If you
have any questions, comments, or problems with the product you have received
please contact the factory. Your feedback on our product and performance is
welcome and needed in order for us to continue providing you with a quality
product.

Contact Us
Toll free: (800)-445-5148
Fax: (800)-551-6993

Site Preparation

Pre-Check
Check the materials completely as soon as possible. Check against the pick ticket and
layout drawings. If you are missing parts or have received damaged product, contact
your dealer.

Storage

Lay the material flat, do not lean against a wall or stack unevenly. Leave all protective
masking on until installation is complete. Then carefully cut around the hardware and
remove masking.

Tools Needed
* Chalk line
* Tape Measure
» Screwdrivers (Phillips & Flat head)
» Adjustable Wrench
* Level
+ Jigsaw (or Hacksaw)
» Power Drill with/
* 5/16" Masonry bit
« 3/32",5/32", & 1/4" Metal bits.
« T27 torx bit (supplied by Scranton Products)
* 14" x 14" spacer block to rest doors and panels on for easier installation.
* Factory provided drawings.

Scranton Products Page 3



Section 2: Fasteners

1.1/2" STAINLESS STEEL 414 TORX HEAD SCREW
ITEM # - HF15THS

=

i } e |

/18”7 LAGBOLL
ITEM # - HFLAGS

O@:mmmsm

1 1/2"

ITEM # - HF25THS

® (le

7 7

ITEM # I'IF1 751115

®) @mmmm»[

A

PLASTIC ANCH
ITEM # - HFPA

~
© >
1 7/18" l,

K]

27_STAINLESS STEEL #20 PHIUPS HEAD MACHINE SCREW
ITEM # - HF2PHFS

©)

LFELLEEEDLLERLLERELVARRRVERRRVALRY

3/4° STAINLESS STEEL TORX HEAD #14 SCREW
ITEM # - HF75THS

27 _STAINLESS STEEL #20 PHILLIPS HEAD MACHINE SCREW
ITEM # - HF2PHRS

Q 'm*.111.‘.1.::n1_mammnnummm
s

/ /|

10/24 X 1.11° LENGTH, TOR: T
ITEM # - HF718SBF (FEMAI.E)

1.5/16" X 1/2"dio. LEAD EXPANSION SHIELD
ITEM # - HFESL

& —) @ FE,” '
l: 1 7{6& I: 1 5/16"
/l /l
1 D RX HEAD THRU=~ T

ITEM #- HF843SBM (MALE)

®

I'I'EM # - HFi 5MBS

@Q}_@:——m

l‘ 54/64" l: [, 11/2° l,
“ “1
5/8" STAINLESS STEEL #10 ONE-WAY SCREW, 1" STAIN £ W

ITEM # - HF6250WS

® (s,

5/8"

ITEM # - HF1HSS

@) [hssusanses

boo |

Page 4

Solid Plastic Toilet Compartments Installation Instructions



Section 3: Understanding Your Shop Drawings

side wall

STANDARD IC—1

bock wall 1" back waoll i

38" 4 y 36" 36" 36" - !

35 1/2" S g 35 1/2" 35" 35 1/2° g 3

INSIDE ; - INSIDE INSIDE INSIDE e

[« ™~ o o

1o 'e] (7] w

39HR: 110°CRSSE CM
6l 1/2" e\i6 M
G s (g = = - -ﬁ —_
IJS‘[ 24” [71 1}5{ 24 J_12'l 24" lla'l 24" |5 ,

STANDARD BW-3

IN CORNER — 1 STALL

BETWEEN WALLS — 3 STALLS

Reading Shop Drawing Abbreviations

60" O.A. stands for the overall dimension from the back wall to the front face of
the pilasters. When the overall is shown as 60" your panel will be 57 1/2" long. To
achieve your 60" overall you will set the gap at the back wall to 1" and the gap at the
pilaster to panel connection to 1/2" add in the 1" thick pilaster you get 60" overall.

39" H.R. as shown on the IC-1 stall stands for head rail. This is supplied for our floor
mounted over head braced system only. All of the head rail will be oversized by the
factory 2" to allow for any variance that may occur in the field. The installer must field
trim to proper size.

110" CRSSBRC as shown on the BW-3 shall stands for Cross brace. This is supplied for
our ceiling hung system only. All of the cross brace will be oversized by the

factory 2" to allow for any variance that may occur in the field. The installer must field
trim to proper size.

Understanding Shop Drawing Dimensions

Stall Widths When shown in an application with one wall and one panel the 36"
dimension is from the face of the wall to the center of the 1" thick panel, thus giving
you 35 1/2" on the inside of the stall. When used between two panels the 36" dim is
from the center line of panel to center line of panel which would leave you 35" inside
the stall.

Pilaster Splits When a pilaster split is shown it is the distance the panel is spaced
on the pilaster from side to side. When shown as a 6/6 split on a 12" pilaster the

panel will be dead center on the pilaster. Because it is 6" to center of the 1" thick

panel from the edge of the pilaster you will have only 5 1/2" of the pilaster showing on
the inside of the stalls.

Scranton Products

Page 5



Section 4: General Layout Information

Step 1. Center Line Dimensions

To locate the centerline of the pilasters, measure from the back wall out to the overall
dimension of the stall depth on your shop drawings (in EXP. A 60") then subtract
1/2" (in EXP. A 59 1/2" C/L.). Draw a line at this mark parallel to the back wall and a
mark up the side wall 70", this will give you the center line of your shoes & bracket
connections.

Step 2. Side Wall Brackets

At the 70" line you will have now drawn up the side wall(s), measure from the floor
up 14 1/2" for continuous brackets (14 1/2" is to the bottom of the bracket), or if
you are using stirrup brackets measure up from the floor 17" for the first bracket,
42" for the second bracket, and 66" for the third bracket, these are for the center of
the brackets, not the bottoms. Once you have your locations, hold the brackets to
the wall and mark the spots of the pre-drilled holes on the brackets to the wall. Drill
a 5/16" hole and insert a plastic anchor at all of the marks, replace the bracket and
secure it to the wall with the 1 1/2" torx head screws. (See EXP. B next page)

Step 3. Back Wall Brackets

Using your shop drawings get the stall width dimensions and measure across the

back wall to get the center lines of your brackets (in EXP. A it would be 36"). Measure up
the wall your 70" line and mark your bracket locations and mount them.

Please Note: An optional metal strip may be attached to the edge of the panels
and doors. This must be installed on the bottom.

Note: All dimensions are for illustration purposes only. See your drawings for actual

dimensions.
EXP A BACK WALL
S0 QA DA 1o BE GETERunED on ST
70" HIGH LNE~_ |

a(‘—’/ :
STIRRUP BRACKET =
CENTER LOCATIONS 24 ;
TYP. @ ALL LOCATIONS :
, 38" _/ 36" _/ 38"

woll fo center 7 cenfer fo cenfer wall 1o center
\ PILASTER SHOES

14 1/2" IF CONTINUOUS BRACKETS
TYP. @ ALL LOCATIONS

Page 6 Solid Plastic Toilet Compartments Installation Instructions



Section 4: Pilaster to Floor Attachment

Locate the centerline of the front pilasters. Measure from the back wall to the front of
the pilasters. This dimension is the “Over All” dimension, noted on the shop drawings
as (O.A)). Subtract 1/2" from this dimension and draw a line on the floor parallel from

the back wall.

Leaving the indicated space (per the drawings) between the wall and the edge

of the pilaster. Hold the pilaster in place as noted on the drawings and mark the
floor around the bottom of the pilaster. This mark will indicate the location of the
first shoe. Set shoe on mark and mark the shoe hole locations. Remove shoe. Drill
5/16" holes and insert the plastic anchors. Replace the shoe and secure with the
(1/4" washer if needed) 1 1/2" torx screws. Continue to follow the drawings for the

location of the remaining shoes.

Lag Bolt

Washer for use
with plastic shoe ‘}

&

Fasteners (3" to 24")

Qty ltem#

2 HF15THS
2 HFPA

1 HF843SBM
1 [D]HF718SBF
2 HF25FWS
*] HF75THS

/(Mloch in field if leveling is needed)

Description

1 1/2" Torx Head Screw
Plastic Anchor

10/24 x .830" Male Sex Bolt
10/24 x .830" Female Sex Bolt
1/4" Flat St/St Washer

3/4" Torx Head Screw

*Fastener used for headrail. See headrail instructions.

Scranton Products

Page 7



Section 4: Floor & Ceiling Attachment for Floor to Ceiling

Locate the centerline of the front pilasters. Measure from the back wall to the front of
the pilasters. This dimension is the “Over All’ dimension, noted on the shop
drawings as (O.A.). Subtract 1/2" from this dimension and draw a line on the floor/
ceiling parallel from the back wall.

Hold the pilaster in place as noted on the drawings, and place the st/st angle behind
the pilaster. (Note: 4" to 9" pilasters receive 1 angle which is centered on the pilaster,
10" to 24" pilasters receive two brackets which must be placed approximately 1"
from the sides). Keeping the st/st angle in place remove the pilaster and fasten to

the ceiling using the 1 1/2" screws. Now slide the sleeve onto the top of the pilaster
with the lip of the sleeve on the bottom backside of the pilaster (do not fasten at this
time). Drill two 1/4" holes into the angle. Drill a 5/32" pilot hole 1/2" into the pilaster
and secure with 3/4" torx screw. Slide the sleeve back up to the ceiling and drill at
5/32" pilot hole 1/2" into the pilaster and secure with a 3/4" torx screw.

4" st /st
angle
Holes are not
pre—drilled
st /st
sleeve
v . 8 . .
Sleeve lip on bottom
Fasteners (4" to 9") Fasteners (10" to 24")
Qty ltem # Description Qty ltem # Description
2 HF15THS 1 1/2" Torx Head Screw 4 [ Al HF15THS 1 1/2" Torx Head Screw
2 B | HFPA Plastic Anchor 4 | B HFPA Plastic Anchor
3 HF75THS 3/4" Torx Head Screw 5 [Q HF75THS 3/4" Torx Head Screw

Page 8

Solid Plastic Toilet Compartments Installation Instructions



Section 4: Ceiling Attachment for Ceiling Hung

* When installing ceiling hung partitions keep in mind that everything must be
tightened completely and correctly.

* Locate structural steel in the ceiling, (cannot be wood, masonry, or drop ceiling)
this is what you will be attaching the pilasters to.

Install the Mounting Hardware to the Pilasters as Shown

1. The barstock is to be connected to the pilasters prior to mounting. To mount the
barstock to the pilaster, use the 2 1/2" bolts and mounting dowels. Push the dowels
into the holes drilled through the face of the pilaster. Using a flat head screwdriver,
turn the dowel until the groove is pointing straight up and down. Make sure that
the dowel is centered in the pilaster. Place the 2 1/2" bolts in through the top of the
pilaster and tighten it down, fastening the barstock to the pilaster.

2. Mount the threaded rod into the structural steel in the ceiling. Attach the threaded
rod to the structural steel using 5/8" nuts, 7/8" flat washer, lock washer. Place the
rod so that it is below the finished ceiling by 2 1/4"-2 3/4". Tighten the connections
at the steel and proceed. When tightening bolts, take care to make sure they are snug
but, DO NOT OVERTIGHTEN.

3. Once the barstock is mounted to the pilaster, you are ready to attach the pilaster
to the threaded rod. Raise the pilaster to the threaded rod. Attach the threaded rod
to the barstock using the 5/8" nuts, 7/8" flat washer, and the lock washer. Do not
completely tighten the hardware until you have made your final adjustments.

4. Once the pilaster is mounted, you can make your final adjustments. Make sure that
the pilaster is level and plumb before tightening all of the nuts. You can adjust for
level and plumb using the connections to the threaded rod and barstock.

5. Once all adjustments have been made you can slide the sleeve up to the finished
ceiling. Fasten the sleeve using the sex-bolt p%wded

an o / =
-STRUCTURAL STEEL .~ -[6]

(4] ,*8--

LT TTI77Z7Z ////////j//////////_ :Z‘./A/;J,;f://zé = T

f ACCOUSTICAL CEILING

(€]
@ (8] [
- SRS - = T S Em # Description
R -2 2 ']/_' "
— — o HF875FWS  7/8" Flat ST/ST Washer
oD ® & '\ 8 HF625LWS  3/8" ST/ST Lock Washer
[€]— €l HFHNS 3/8" ST/ST Hex Nut
D HFHHCS250 3/8" 16 x 2 1/2” Zinc Plated
Hex Head Cap Screw
G HFJC 3/8" 16 x 1" Joint Connector
o Nut (Dowel)
€} EHF?STHS 3/4" Torx Head Screw

E]HFGSTRS 6 1/2" Threaded Rod
H HF175THS 1 3/4" Torx Head Screw

Scranton Products Page 9



Bolt Hole Layout Instruction Sheet

Scranton Products’ ceiling hung partitions are installed using 6 1/2" threaded rod.

The threaded rod is attached into the aluminum bar stock (see below). There are two
slotted holes on either end of the bar stock. This is where the threaded rod attaches
into the bar stock. This slotted hole is 1" wide to allow for adjustment. This is typical

for all pilaster sizes (4"-to-24") available in ceiling hung.

Aluminum Bar Stock Detail

The holes for the threaded rod should be drilled for the center of the slotted holes
in the bar stock. These holes should be drilled 5/8" in from the edge of the pilaster
(bar stock).

Sample Bolt Hole Layout*

Shown above is a “sample” layout, with bolt hole locations. Note that the
“centerline” dimension for the depth of the stall will be 1/2" deducted from the
“overall depth” of the stalls. The bolt holes are located 5/8" in from the edge of
the pilaster.

*Attention: Before drilling the holes for the ceiling hardware, make sure that you have verified all
dimensions, and that there will be no further changes. Pilasters & bar stock cannot be modified to fit.

Page 10

Solid Plastic Toilet Compartments Installation Instructions



Section 5: Stirrup Brackets

Step 4. Pilaster to Floor Connections
See “Pilaster to floor attachment” sheet that is supplied separately.

Note: if you are installing Floor to Ceiling mounted partitions also see the “Ceiling
attachment for floor to ceiling” sheet at this time.

Step 5. Pilaster/Panel to Wall Connection

Set the first pilaster in the wall bracket and shoe that were installed in the previous
steps. Making sure the pilaster is level and plumb (if not use the leveling bolt in the
bottom of the pilaster), drill 1/4" holes through the pilaster using the pre-drilled
holes in the brackets as a guide and secure using torx head sex bolts. (See EXP. B)

Please Note: An optional metal strip may be attached to the edge of the panels
and doors. This must be installed on the bottom.

Set your first panel into position at the back-wall bracket. (Use the 14" high spacer
block to stabilize the panel). Set the panel 1" from the back wall, making sure the
panel is level and plumb drill 1/4" holes through the panel using the pre-drilled holes
in the bracket as a guide, and secure the panel and bracket using the torx head sex
bolts.

ANCHOR
/ BRACKET

EXP B.

Torx head sex bolt

PANEL OR
PILASTER

1 1/2" Torx head screw

PANEL AND/OR PILASTER TO WALL ATTACHMENT
STIRRUP BRACKET SHOWN

Scranton Products Page 11



Section 5: Stirrup Brackets

;': 38" 38" :\
35 172" 35" r
)

R “insibe INSIDE
53

D ,

’..1 ?xlq.’-tor
)001 Spli

K4

N
SARK

Step 6. Pilaster to Panel Connection

Please Note: An optional metal strip may be attached to the edge of the panels
and doors. This must be installed on the bottom.

Take the second pilaster and lay it on a flat surface, measure from the side toward the
middle of the pilaster using the pilaster split called out on your shop drawings (in
EXP. C for the 12" pilaster the split is called out at 6/6 split this is typ. for this drawing
only). Mark a line at this position, this is your pilaster center line, now place your
bracket on the pilaster, center the bracket over the pilaster center line and fasten your
bracket to the pilaster.

Place the pilaster with bracket in the second shoe and make sure it is level and
plumb, checking the gap between the pilaster and the panel edge (1/2" gap STD).
Drill 1/4" holes through the panel using the pre-drilled holes in the bracket as a
guide and secure pilaster to panel with torx head sex bolts (with the panel mounted
you should have 5 1/2" from the edge of the pilaster to the face of the panel).

Repeat these steps for the rest of your pilasters.

Clean Look: (If noted on shop drawings) To install the stirrup bracket using the
“clean look” drill a 5/32" pilot hole 1/2" deep, secure with a 3/4" torx screw.

— PILASTER SPLIT

IJASTER CENTER LINE

R

BRACKET

N

* - \
\/
| /]
PILASTER __/ Torx hecd sex bolt

. Torx hecd sex boit
(Use 3/4" torx heed screw for cont brikts)

PANE

BRACKET TO PILASTER ATTACHMENT
STIRRUP BRACKET SHOWN

Page 12

Solid Plastic Toilet Compartments Installation Instructions



Section 5: Continuous Brackets

Step 4. Pilaster to Floor Connection
See “Pilaster to floor attachment” sheet that is supplied separately.

Note: If you are installing Floor to Ceiling mounted partitions also see the “Ceiling
attachment for floor to ceiling” sheet at this time.

Step 5. Pilaster/Panel to Wall Connection

Set the first pilaster in the wall bracket and shoe that were installed in the previous
steps. Making sure the pilaster is level and plumb (if not use the leveling bolt in the
bottom of the pilaster), drill 1/4" holes through the pilaster using the pre-drilled
holes in the brackets as a guide and secure using torx head sex bolts. (See EXP. B)

Please Note: An optional metal strip may be attached to the edge of the panels
and doors. This must be installed on the bottom.

Set your first panel into position at the back wall bracket. (Use the 14" high spacer
block to stabilize the panel). Set the panel 1" from the back wall, making sure the
panel is level and plumb drill 1/4" holes through the panel using the pre-drilled holes

in the bracket as a guide, and secure the panel and bracket using the torx head sex
bolts.

ANCHOR

BRACKET

EXP B. D

at

e
\ PANEL OR

PILASTER

Torx head sex bolt ¢ %'

1 1/2” Torx head screw

PANEL AND/OR PILASTER TO WALL ATTACHMENT
CONTINUOUS BRACKET SHOWN

Scranton Products Page 13



Section 5: Continuous Brackets Continued

Step 6. Pilaster to Panel Connection

Please Note: An optional metal strip may be attached to the edge of the panels
and doors. This must be installed on the bottom.

Take the second pilaster and lay it on a flat surface, measure from the side toward
the middle of the pilaster using the pilaster split called out on your shop drawings
(in EXP. C for the 12" pilaster the split is called out at 6/6 split, this is typical for this
drawing only). Mark a line at this position, this is your pilaster center line, now
place your bracket on the pilaster, center the bracket over the pilaster center line
and fasten your bracket to the pilaster. Drill a 5/32" pilot hole 1/2" deep, secure
with a 3/4" torx screw.

Place the pilaster with bracket in the second shoe and make sure it is level and
plumb, checking the gap between the pilaster and the panel edge (1/2" gap STD).
Drill 1/4" holes through the panel using the pre-drilled holes in the bracket as a
guide and secure pilaster to panel with torx head sex bolts (with the panel mounted
you should have 5 1/2" from the edge of the pilaster to the face of the panel).

Repeat these steps for the rest of your pilasters.
Clean Look: (If noted on shop drawings)

Plastic brackets receive 3/4" torx screws
instead of sex bolts.

EXP C. | PILASTER SPUIT
ASTER CENTER LINE
R
\ BRACKET
A 38" 36" \
(X 351/2" 35"
X TinsibE INSIDE .
o
:0:( Pilo.ster \
KX 110° HR. / Split
4
e
5T
\':‘ A = —/ \
// Torx head sex bolt
24 118“ 24" —/ 3 s
PILASTER °
PANE

3/4" torx heod screw

BRACKET TO PILASTER ATTACHMENT
CONTINUQUS BRACKET SHOWN

Page 14 Solid Plastic Toilet Compartments Installation Instructions



Section 6: Headrail Attachment

Step 1. Cutting Headrail to Size

(Note all headrail shown on your shop drawings is cut by the factory 2" over sized to
allow for any variances in the field). Measure the distance that the headrail needs to run
for the location you are working on, find the piece of headrail that is shown on your
shop drawings for this location and trim it to size.

Step 2. Headrail Bracket to Wall Connection

Place the headrail bracket on the end of the headrail and drill a 1/4" hole through the
headrail and secure with a torx head sex bolt. Place the headrail on top of the pilasters
(do not attach). Starting at the wall pilaster, slide the headrail against the wall and mark
the pre-drilled holes in the bracket onto the wall. Remove the headrail and drill 5/16"
holes and insert the plastic anchors. Replace the headrail & bracket and secure it to the
wall using 1 1/2" torx head screws.

Step 3. Headrail to Pilaster Connection

On the back side of the pilaster drill a 1/4" hole centered on the pilaster through the
headrail ONLY! Then through the hole just drilled in the headrail drill a 5/32" pilot
hole 1/2" deep into the pilaster, secure the headrail to the pilaster using a 3/4" torx
head screw.

Attention: If shower hooks are used they must be
placed in the headrail before the headrail is fastened to
the pilasters.

Step 3
Atloch the oulside ear of headrcil bracket approx.

1/47 from edge of headrail. 3/4" screws must ottoch
through the headrail into the pilaster ot both eors.

TORX HEAD s:xa?u\

~

TORX HEAD SEXBOLY

AN

THRU-BOLT

HEADRAIL BRKT.
* HEADRAIL TO PILASTER

ATTACHMENT TORX SCREW
* HEADRAIL TO HEADRAIL HEALRAR

BRACKET ATTACHMENT
* HEADRAIL BRACKET TO
WALL ATTACHMENT
* END CAP TO HEADRAIL
ATTACHMENT

\ 3/4" TORX SCREW

\— PILASTER

END CAP

Scranton Products Page 15



Section 6: Headrail Attachment for Alcove Situations

Step 1. Cutting Headrail to Size (two different ways, choose one)

(Fig. A) Measure across the front of the alcove from wall to wall, and trim headrail
“A” to this length.

(Fig. B) Measure from wall to pilaster & cut headrail into two pieces.

Step 2. Notching the Headrail

Take headrail “A” and place it above the pilaster and across the turned pilaster and
mark the location where it meets the turned pilaster. Next cut a notch in headrail
“A” at the mark where the turned pilaster meets (See alcove dwg). Replace the
headrail and secure to the wall using headrail brackets, then using a 1 1/2" torx
head screw fasten headrail “A” to turned pilaster through top of the headrail.

Step 3. Return Headrail

Measure from the back side of the headrail “A” to the back wall and cut headrail “B”
to this length. Install headrail bracket at the back wall, then insert headrail “B” into
headrail bracket and on top of the turned pilaster and secure.

Attention: If shower hooks are used they must
be placed in the headrail before the headrail is
fastened to the pilasters.

75
O‘Q

25
A

A

)

5
X

"
P,
\/
<

SR
o

o
oy
XX

5

P
-

N
55
P,
-

L

..
558
o2

N7
X

250

».
&

TR

-
X

%

HEADRAL, "A"

7
25

et

XD

9.
T

NP
Patata¥l

MEADRAIL "B"

v
25

7
2

Turned p(osu;

/N
WASTER

HEADRAIL SPLIT INTO 2 PIECES HEADRAIL NOTCH

Fig. B Fig. A

Page 16 Solid Plastic Toilet Compartments Installation Instructions



Section 7: Crossbracing for Ceiling-Hung Pilasters

Note: Plastic crossbracing must be used to stabilize the Ceiling-Hung system and
must be installed or “Scranton Products” will not warranty against failure.

Installing Crossbracing

Crossbracing is placed behind the pilasters at 82" above the floor. The length

of the crossbracing for its specific location is called out on your shop drawings
(crossbracing is cut 2" oversized by the factory to allow for any variances in the field,
must trim to size). Place the crossbracing on the back of the pilasters, on top of the

68" high brackets. Where the crossbracing touches the wall(s), mark the location,
placed the 4" angle bracket against the wall and mark the pre-drilled holes onto the
wall. Pre-drill two 5/16" holes on the marks and insert the plastic anchors. Install the

4" angle brackets with 1 1/2" torx head screws. Where the 4" angle bracket touches
the crossbracing, pre-drill two 5/32" holes 1/2" deep into the crossbracing. Secure
using the 3/4" torx head screws. Where the crossbracing passes a pilaster, pre-drill

two 5/32" holes through the crossbhrace and 1/2" into the pilasters. Secure using the 1
3/4" torx head screw.

\ ¢

\3/4' TORX SCREW
BRACKET

BACK OF
PILASTER

CROSSBRACE

#14 TORX SCREW
1 1/2" ST/8T

__— 1=3/4" TORX SCREW

CROSSBRACING TO WALL
AND TO THE PILASTERS ATTACHMENT

Scranton Products Page 17



Section 8: 76" Stiffener Installation

The 76" Stiffener is used to provide added support to the pilaster for spans greater
than 30" on the strike side of a pilaster, or 10" spans or greater for HC doors.
Locations will be shown on shop drawings.

//7/4 ‘§\
- N /
| J;’f | o b )
& \
Nk " 4
SN

Instructions:
USING YOUR HINGE AS A GUIDE. PLACE THE
-L L I 76" STIFFENER AS CLOSE TO THE HINGE SIDE/

OR STRIKE SIDE OF THE INDICATED PILASTER
ON THE INSIDE OF THE STALL. FASTEN WITH
3/4" TORX SCREWS AS PROMIDED.

INSIDE OF STALL

STD. FRONT ELEVATION
NTS FOR REFERENCE ONLY

28—

T

3
Jis 3 - b 3 -
) 3 40a )

CROSS SECTION

Page 18 Solid Plastic Toilet Compartments Installation Instructions



Section 9: Hinge Installation (Integral Hinge)

Bottom Hinge: Insert the long cammed pin into the bottom of the door as indicated at
point “A”. Be sure the pin bottoms out using the short cammed pin to push the long
cammed pin into the door. Drill a pilot hole (3/32" bit) approx. 1 7/16" deep into the door
as indicated at point “B”. Be sure to drill deep enough to penetrate the cammed pin in the
door. Drive the set screw flush with the door’s surface. Insert the short cammed pin into the
bottom of the pilaster at point “C”.

Top Hinge: Insert the spring at point “D”. Then the long pin at point “E” into the top
of the door. Position the door into the pilaster cutout so that the long & short cammed
pins (bottom) engage each other and the long pin (top) is placed into the hole and
“tops out” in the pilaster. Drill a pilot hole “F” (3/32" bit) into the pilaster. Be sure to drill
deep enough (1 7/16") to penetrate the pin in the pilaster. Drive the set screw flush with
the pilaster’s surface. Next, rotate the door to the desired rest position. Push down on
the door while holding it in the desired rest position. (This sets the cammed pins in the
bottom set). Drill pilot holes at point “G” same as “B” (as noted above) and continue to
hold the door at its desired rest position. Drive the set screw flush with the surface.

Safety Note: Protective eyewear must be worn while installing hinge pins! Spring
compression may expel hinge pin rapidly causing injury.

Integrol hinge \ SET SCREW

HHKITINTO1 PILASTER —\ LofiE Fil
N\ M SPRING

L @l
NIl Ve

™

TOP HINGE . —
Pioster botiom 2.80°
ﬂ E Piloster top 1.757 \
Door bottom 3.00"
LONG SPRING | Door top 4.257
PIN
DOOR
BOTTOM HINGE
CAMMED PINS
b -
SHORT LONG &
SET SCREW-1
Door/Pilaster Qrientation @
Top hole of door is
deeper than the bottom

»
Bottorn hole of pilaster LONG CAMMED PIN
is deeper than the top - SHORT CAMMED PIN

Scranton Products Page 19



Section 9: Hinge Installation (54" Continuous Aluminum Hinge)

8" Hinge
Please see separate sheet that is included with your 8" hinge packages for installation
and field setting.

54" Aluminum Hinge

The standard 54" aluminum hinge is surface mounted and fastened with 3/4" torx
head screws. Each hinge has removable covers that are applied after mounting and
set with a setscrew. To mount measure up 14 1/2" from the floor on the pilaster and
mark, this is where the bottom of the hinge will be located (See EXP. A for setting the
gap between door and pilaster) when proper gap is set, put a mark on the pilaster
using the top pre-drilled hole in the hinge as a guide. Remove hinge and drill a 5/32"
pilot hole 1/2" deep at the mark, replace hinge and fasten with a 3/4" torx head
screw, repeat for rest of holes.

(EXP A.) 12

i 1 11/16"

S

o
|J||

4l

1/8" Gap.

3/4" TORX

SCREW PILASTER

DOOR

CONTINUOUS HINGE
ATTACH THE HINGE TO THE DOOR AND
Pg'é’;?§%R WTH #14 X 3/4" TORX

\ REMOVASLE

FACE PLATES

Page 20 Solid Plastic Toilet Compartments Installation Instructions



Section 9: Hinge Installation (54 1/2" Continuous st/st Helix Hinge)

ST/ST Hinge

The ST/ST 54 1/2" hinge is surface mounted and fastened with 3/4" torx head
screws. The hinges are set for either 15° opening or set to close. Doors 30" or over
require the doors set to closed position, so whether they are in-swing or out-swing
doors the hinge set to close must be used. To mount, measure up from the bottom

of the pilaster 14 1/2" and mark; this will be the location of the bottom of the hinge
(See EXP. A). Measure in from the edge of the pilaster toward the center 1 7/16" and
make a mark parallel with the pilaster edge, place your hinge against the pilaster on
these two marks and mark the pre-drilled hole locations from the hinge onto the
pilaster. Remove the hinge and drill a 5/32" hole 1/2" deep into the pilaster on the
mark. Replace the hinge and secure with a 3/4" torx head screw. Pilot drill the rest of
the holes on the pilaster side of the hinge and secure. Set your door 14" above the
finished floor, with a 1/8" gap between the door and pilaster, secure hinge to door in

same fashion as above.

(EXP A.)

Hinge mounted
14 1/2° AFF to
bottom of hinge

7 ~
/ \
I \
] \
\ '
\ ’
\\\ /I
Set to open:
Backside of hinge
Slight angle

P
~

Set to close:
Backside of hinge

Steeper Angle @) O

When hinges are installed,
the hinge will have a 1/4"
offset when in the rest
position. This allows for the
door to lift when opened,
allowing gravity to return
the door to the set position.

Note: Hinges are provided
for H/C stalls to return to

the closed position. Standard
in-swing stalls are supplied
to return to 15 degrees
open. Hinges are not field
adjustable.

Scranton Products

Page 21



Section 10: Coat Hook & Bumper Installation

INSWING DOORS: The coat hook is installed on the inside of the door in the upper
corner opposite the hinge side and

A.) 54" above the floor (ADA) or

B.) 5" down from the top of the door (Non-ADA)

So when the door is in the full open position the button on the slide latch does not hit
the wall/panel.

OUTSWING DOORS: The coat hook should be centered on the inside of the door
and be

A.) 54" above the floor (ADA) or

B.) 5" down from the top of the door (Non-ADA).

BUMPER (Wall Stop): These are supplied only for out-swing doors and are

installed in the upper top corner about 3" down from the top of the door opposite the
hinge side, so that when the door is fully open the door pull handle does not hit the
wall or partitions.

To secure the coat hook & bumper, drill 1/8" pilot holes 1/2" into the door. Secure
with #10x5/8" one-way screws.

Coot hook (non—ADA doors)

!

?
Inswing: to be determined on siteJ

(See obove nstructions)

Qutswing: center of door

Coat hook (ADA doors)

Ingwing: to be determined on site
DOOR (See obove instructions)
Quiswing: center of door

f? 54" AF.F,

Wall stop bumper (outswing doors)

|
3
— @
To be determined on site_|__ -
DOOR See obove instructions

]

Page 22 Solid Plastic Toilet Compartments Installation Instructions



Section 11: Vanity Installation

Step 1. Marking Vanity Locations

Measure up the back wall 33" and make a mark, then measure out parallel with the
floor the distance of the vanity as indicated on your shop drawings and make a chalk
line, this will be where the bottom of the vanity top will sit. Indicate on the walls
where the vanity center support(s) and end leg(s) will be. Space the supports evenly,
(do not exceed 36") keep in mind the location of the plumbing fixtures. (See EXP. A)

Step 2. End Supports (only on in-corner and free standing)

Set the end support in place against the wall on the line indicated in the previous
step. Mark around the bottom of the leg for the location of the shoe. See the
separate installation sheet supplied with the shoes to install the shoe at this time.
Attach a 16" angle to the inside back of the support and one to the inside top of
the support, pre-drill the holes with a 5/32" drill bit and secure with 3/4" torx head
screws. (See EXP. B & EXP. C next page). After the brackets are attached to the end
support, insert it into the shoe. Make sure it is level and plumb, and mark the hole
locations from the brackets onto the wall, then remove the support. Drill 5/16" holes
at the hole locations and insert the plastic anchors. Replace the support and fasten
with 1 1/2" torx head screws, fasten shoe with a sex bolt (See EXP. C next page).

16"
/’ANCLE
EXP A. i CHALK LINE

oot
/ VANITY TOP CHALK LINES
/Uppom CHALK LINE

END
SUPPORT

16"
‘ /_ ANGLE
. /—CHALK LINE

SUPPORT
a2l / SHOE
END su,DPcV \

8,
ACk W,

33" (STD.)

A

CHALK UINE LOCATIONS

Scranton Products Page 23



Section 11: Vanity Installation Continued

Step 3. Center Supports

Attach a 16" angle bracket to the back of the support and one to the opposite side
on the top of the support. Secure in same fashion as in step 2, previous page. (See
EXP. C) After the brackets are attached to the support, take the support and center
it on the chalk line on the wall making sure it is level, and the top of the support is
flush with the line for vanity top. Mark the holes for the brackets onto the wall and
secure to the wall in same way as in step 2, previous page. (See EXP. C)

Step 4. Wall Brackets

Between the center support(s), end support(s) and at the side wall, install the 16"
angle brackets flush and level with the chalk line for the bottom of the vanity top,
evenly space throughout (See EXP. E)

EXP C. EXP D. Kcnux LNES
> 5/32° PILOT HOLE GLE
PLASﬂC/*/«<> 25 \ /x

% \-5/76' HOLE ~N
< \ANCHOR

/3/4‘ TORX

Cad

ANGLE BRACKET

f14 SC
1/ SY/SY

23

CENTER SUPPORTS.
SPACED EVENLY MAX. 367 APART.\
SUPPORT

167
ANGLE

EXP E.

16" ALUMINUM ANGLE BRACKETS

BOTTOM OF VANITY TOP CHALK UNE

Page 24 Solid Plastic Toilet Compartments Installation Instructions



Section 11: Vanity Installation Continued

Step 5. Back splash & Side splash

Install the back splash & side splash(es) to the vanity top. Clamp or hold the back
splash to the back edge of the vanity top. From the bottom pre-drill 5/32" holes 2"
deep through the vanity top and into the back splash, space holes approximately
10" apart. Drill a 5/16" countersink 1/8" deep. Secure the back splash to the top
using 2 1/2" torx head screws. Install side splashes same as back splash. (EXP. F)

Step 6. Vanity Top

After the back splash and side splash are installed, position the top onto the support and
angle brackets. Make sure that it is tight against the back wall. From underneath, drill
5/32" pilot holes through the brackets up 1/2" deep into the vanity top and

fasten with the 3/4" torx head screws.

Step 7. Skirts

Attach to the back of the skirt the 16" angle brackets approximately the same

distance as the ones on the back wall. Drill 5/32" pilot holes 1/2" deep into the

skirt and attach with 3/4" torx head screws. Place the skirt into position against the
supports and up to the vanity top and drill 5/32" pilot holes from the brackets 1/2"
deep into the top. Fasten with 3/4" torx head screws. Use the small 2" x 2" angle
brackets to attach the skirt to the supports. (EXP. G)

Step 8. Kickplates
Attach to the supports by drilling 5/32" pilot holes 2" deep through the front of the
kickplate into the supports. Fasten with the 2 1/2" torx head screws.

16" ANGLE
BRACKETS

SIDE SPLASH

BACK SPLASH

A BRACKET
= EXP G.

EXP F. SKIRT ATTACHMENT =
BACK AND SIDE SPLASHES REQUIRED

Scranton Products Page 25



Section 12: Locker Bench Installation

Step 1. Pedestal to Bench

Using the bottom side of the bench, indicate the centerline along the length of

the bench. Along the centerline mark 12" in from each end of the bench. Then
divide the distance between these two marks equally. (Never exceed 36" between
pedestals). These marks will indicate the centerline locations of the pedestals. Set the
pedestals in place and pre-drill the holes with a 1/8" bit 1/2" deep into the bench and
secure with torx head screws. (See EXP. A)

Steel Pedestals—3/4" torx head screws
Plastic Pedestals—1 3/4" torx head screws
Aluminum Pedestals—1 3/4" torx head screws

Step 2. Pedestal to floor

Set the bench with pedestals attached in place on the floor. Mark the floor where the
pedestal holes are located. Remove the bench and drill 1/2" holes at these locations and
insert the lead anchors. Replace the bench and secure to the floor with the 2" st/st
machine bolts supplied. (See EXP. B)

(EXP. A) (EXP. B)

,///F-SCREW

PEDESTAL

2" MACHINE
BOLT

PEDESTAL

— LEAD SHIELD

( )

.

> ~—=""\— LOCATION OF
BENCH \ct_ OF BENCH PEDESTAL AT FLOOR
PEDESTAL TO BENCH BOTTOM PEDESTAL TO FLOOR

Page 26 Solid Plastic Toilet Compartments Installation Instructions



Section 13: Terrazzo Base / Shower Cube

Scranton Products designs shower cubicles to be mounted on terrazzo bases. All
terrazzo bases are by others and not supplied by Scranton Products. Below are two
typical base designs used with our cubicles.

Be sure to use a substantial bead of caulk between our plastic panels and the terrazzo
base forming a custom gasket. A substantial bead of caulk must be applied, during
installation to insure proper seal. Caulk applied after installation is complete will not
provide sufficient seal, this must be done prior to setting panels.

PANEL —

BED OF
CAULKING TO ' PANEL
STOP WATER.

BED OF
CAULKING TO
STOP WATER.

BASE

BASE:

Scranton Products Page 27



Care and Maintenance for Solid Plastic Products

Keeping your Solid Plastic compartments beautiful for years is easy... Here’s how!

Scranton Products’ solid plastic compartments come closer to being totally
maintenance free than any other toilet compartments on the market today. However,
like a freshly painted room, new automobile, or any other product that is exposed to
use and atmospheric conditions, the compartments will become soiled.

DIRT and GRAFFITI
Your Scranton Products’ solid plastic products can be cleaned satisfactorily by using
water from an ordinary garden hose. If this does not do the job, we suggest:

1. Equip the garden hose with a pressure nozzle.
2. When the soiled areas are stubborn, the following cleaning solutions are
suggested:
a. 1/2 cup of household detergent, 2/3 cup of trisodium phosphate, and
1 gallon of water
b. Any industrial strength cleaner (non-abrasive)

3. Mineral spirits or acetone (just be careful on the hardware) for glue that sticks
from the masking

CUT and SCRATCHES
Repair cuts and scratches by burnishing the surface with a smooth, round object,

such as a spoon or screwdriver handle.

Using the smooth, round object, apply pressure to the cut or scratched surface and
burnish with a blow dryer or heat gun, not against, the cut or scratch.

NOTE: Spray the surface of the panels and doors with silicone to give your Scranton
Products’ products a like new bright and glossy appearance.

A\, SCRANTON

801 Corey Street «  Scranton, PA 18505 « 800.445.5148 + Fax 855.376.6161 -+ info@scrantonproducts.com
www.scrantonproducts.com

. ARIA e |.| HINY D TUFFTEC i DURALIFE
¥ 4 ' j : LOCKERS

# SP.F.031.00



